Chapter 3 Test Version A


Name ___________________________

1. Using ruler, protractor and pencil, make a neat detailed scale drawing showing the addition of the following two vectors. The first vector is: 185 km  W  29o N. The second vector is 157 km  S 17o W. Express the resultant displacement in the blank provided. Do not use your calculator.
___________________________

2.
Using your calculator, add the following three vectors. 57 m/s (S 39o E),   81 m/s (N 61o E) and 102 m/s 


(W 21o N). Place the value of the resultant velocity in the blank provided. 

___________________________

3.
Using your calculator, add the following four vectors. 83 km (W 72o N),   46 km (E 31o S),  62 km 


(N 52o E) and 102 km (S 63oW). Place the value of the resultant velocity in the blank provided.

___________________________

4. You are crossing a river that is not flowing in a boat that has a speed of 12 m/s. If the river is 78 m wide,

(a) How long will it take to cross the river.

Once across, the river starts to flow with a speed of 6 m/s.

(b) With the boat heading across the river, how long will it take to come back to the original side? 

(c) With the current flowing, what angle will you head upstream so that the boat will go straight across the river 


a.  _______________
b.  _______________

c.  _______________
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